EAGRAROBREERT — 2 N— ABISH —F

2020528140 (£) 11EAHE5H

d-\j‘-)bﬁﬁﬁ‘g‘istﬁlngEjrg « X1)—TX3S 7% \ (x] & \ (@] — | 4 (£) 1600M FAE
[AE4£] 1 7% :900,000 " ~ 237%&:351,000  ~ 3#&:225,000 . 4 3#&:135,000 @ . 5 7 :99,000 M
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
S s 4 | BWEF 1:44.6 2-2-2-2 |40.3| — 2 508 | LUFREE (AA4B)
117111 S A7T 7 1 §4_’5 - +1) (%) /;»75%’4—#57‘07 KR
LN=Y7514 B:7AVT7A7K gilll BE
L T 46. i 7| - Rz (J11i)
oMo |7 R i 56.5 1(476)0 B 12 :?g) Bz
X740 B:twLvo—i H2 0 LS
= o7 | HIE 1:46.2 11-11-10-9 | 40.6 | — 7 M7 | BHKEE (A1)
3PN 5 LFA71—t 54.5 (3/4) 1) Hepigs
R:T7RYAY L= B:T75T7—Fv>7 EH XA
P o6 | WUAEE 1:46.6 4-4-3-3 | 42.1| — 3 483 | EEEEZ (#048)
4 13 R4 AIL b 5.5 ® (12 | ) ABES
:yQ7% B:¥aH IFr T HiE
N . FEEE 146. ~5-5- . - 142 ARERR (MFE)
5B o AR P 4t 4 s 1 (416)8 6-5-5-4 421 1 (3?15) Kﬂgﬁ%; ]
R4 TIxATv— Bl v— FHFL RE
o0 = s FIFGEARR 147 —-13-11- . — EEE—FE (fnfE)
NP T YT P 4 5 N 1(417)0 13-13-11-101 41.1 11 (f;) mé;‘ﬁ
L:dr7—3IUT7> B:I-YAT FERS
° = 4 4 4 | AHEE 1:47.4 12-12-13-12| 41.1 | — 9 431 | FHERE (11E)
71712 NI A 54.5 ) -6) BASFE
x40 B:77 7y h3d—b INTr—L
N BEHB : -10-12- — HEEE (B
glil1l%¥vavvayza i 7 L (17.4;;1) 10-10-12-13| 41.3 10 ::155) e
A bhk—L BixvZA>U)— Blikae]
s 4 6 | WAERAE 1:47.5 8-8-8-6 |42.1| — 5 475 | WUARZE (1A18)
9|57 |H>7-ArU—=} 54.5 7E) (+1) (1{9&77722 rEYa>
R:ZARM)—hE>X BHrF—O-—H BKES
g DiE ZilE 147. —6-6- . — EEME (H)
105/ 8| NTFHIZ b i O A53.5 };L? A o 1 (4_2 EEHES
R:A—I>JU> B:IVEXYH P76
i B4 | BEARE 1:47.6 3-3-4-5 |42.9| — 13 | 481 | REBSE (11E)
11]8]14] 7/v3 54.5 ) © |HERK
LAYy TIN—2Y BiH—RI o Ry +REH%S
= [ 4 6 | IIBEKER 1:47.7 14-14-14-14| 1.1 | — 8 468 | ZEEEEL (AA1S)
12 10 2HhHZE— b 56.5 (3/4) (+4) | TIHUES )
L:pxex) B:)TATRY—-LZR KRB
N o N =iEfE :48. ~7-7~ . - KRS (iafE)
03 3| =vs7a5L2 4 5 o] 1(448)6 5-7-7-7 | 43.5 4 :1+(552) ESM 5
R:)—FHFI59> B:ZV/TILAN HE Rk
£ 6 | R 1:48.7 9-9-9-11 |43.2| — 6 509 | #RAEEM GAAn)
1uPle| ¥—7T77158— 77| &s55 (1/2) (5) | &) DELooP
R:TTv 84K BixALayvaq =ZEiie
® 1 —F—@EBIERL
1T=7r= 9,11,14,13,3,2,8,7,6,1,5,12,4,10
23—+ — 9,11,14,13,2,8,3,7,6,1,5,12,4,10
Ja=9= 9,11,13,14,2,8,3,7,6,5,4,1,12,10
43—+ — 9,11,13,2,14,7,3,8,5,4,6,12,1,10
[ /N
B 1 230M 714K 9-11 2,590M e E 6-7 2,380M JEE 5-9-11 32,160/
B B 1" 1504 5-11 920M e B 7-6 3,320M 3EE 11-9-5 109,630H
9 1,110 5-9 11,240H B & 9-11 7,170
) 440M B H 11-9 8,750

ARICOVWTRDTEEERROODE. TR LI,




